Function GraphiArt Nationwide Contest
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y=4625-(x—5) +4 {5<x<7.5)

| —100(y—155) = —(x—140)’
{207.735> y}{140> x}

| (x—140) + (y —200)* = 2025

L y—126=sin(0.2x)
{150 < x <165}

L (x—315)
30

+(y—=110)° =1

{112.285> y}

y=(x+55)"-8.5 —
(-85<x<-35 |
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3.8(x—2.12)2 +0.5(x —2.12)(y = 5.595) + 4.4(y — 5.595)* =1
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t) =—cos(t+—)+—cos(20¢)—0.73
X(0) = 15 008(t +=5) +<cos(201)
t—ﬁ't+l'20t+01 2
Y1) = J5sin(®) +2in(200)+0. {y>__x+67}

y=-0.7(x-52)"+9

{0.6<t<2.35) {4<x<5.05}

(1.1x—2.345)* + (y—5.626)* = 0.146
‘ y=—23_ 1488
ﬂ'\\ R PRI x-12

" \ <0

x=(5.276+(y —5.86))log(0.4(y —5.86))
{6.16<y<7.6}

1 do {1.6Sx£2.35}

r(t9)=—e SIS

m (~6<y<33}
{0<0<628) “’ \

\ K _ / x(t) = %cos(t) +5.5
y=tan(x)—1.2 > [\ _ <

9 . T
t)=—sin(t+—)—3.75
17 E <x<-13% () =gsin(t+3)
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x=-0.3cos(0.5(y—2.2)"*)+5.3
{6.16>x>4.1}

{-23<r<1.2}
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